Incoming 8th Grade Math
Summer Learning Packet

@
KEEP
CALM

BECAUSE

MATH IS
AWESOME

Name:

Be sure to use the example problems to help you!



Part one: Two step equations

When solving an equation (a math sentence with an
equals sign), our goal is to figure out the value of variable
(a letter that represents an unknown amount) that makes
the equation true.

Example:
2x+5=13

The solution to this equation is x = 4 because if we
substitute (replace) 4 in for x, we get:

2*4+5=13
8+5=13
13 =13

Since 13 truly does equal 13, this is true and our solution
of x = 4 is correct.

To solve an equation, we have to use inverse (opposite)
operations.

Addition and subtraction are inverses of each other.
Division and multiplication are inverses of each other.
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Solve each of the following equations using inverse
operations. Be sure to show your work. See the examples
on the previous page for help!

3x-11=16 -5x+2=-8

6x + 9 =39 10x - 18 = 32

-Ix-4=3 2x+12=-18



Part two: Rational number operations

Rational nhumbers are just numbers that can be written as a
fraction of two integers (positive and negative whole numbers).

Operations are just addition, subtraction, multiplication, and
division.
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Evaluate each expression, and simplify if necessary:

2 1 1

5 T2 3 ° 9
1 3 7
4 2 -1+ 3
3,5 4 L2



Part three: Graphing

If a relationship is proportional, its graph creates a straight line
through the origin [the point 0,0)]. Use each table to graph each
relationship. State if the relationship is proportional or not, and
how you know.







>SNl O (| o|wv | <



